B A

DATE

—lcless :vu ~Teadhr, e pr
j « Mablemalies 1
'.%Ter—fl p éx,boncn‘lz and pover
A Nuwber s mul&bw W Nnumrbe e

(4
4
ﬁw,mmz«\mro ik Maﬂ%m

o

— ]

S [1) lofoolucf .}ﬁO/M (1) Mtbonmw ,ﬂofm
QXR2X2 X 2N =32 or | 2x2xowsx2= 25
(90’, & - Mcbmf/bawcr/dﬂa’zm,
iy
-——%bal&

W@,W!BW

i~jL e bases ane Adome oo thewe 18 a "V\AMHXP/(H
VAL T the prews gt odeled ,a,,b J

U™ g"x g = g™ |
2191 te bases ame Lame amdl theae s a diude
,J&:gm" i e povets gel Lubt ra cled

d am_;, " '; amffkl r

5| () = o™
The  |sredct o) porvers
. a® - 47
,4,1,3 ,M;Aﬁ raise Lo pMm Zerto LS albu»a,v«;/41
5 ﬂ"m = | &x l = a™
- a™

o.|d) 4" = a” (means 4/;(— e bases are
) Aume bzmmr e 2500y
> m= n

\_7-_%(,,\9@ = _(ad)™




e B

Cless Vi

Subjec# Matiy epralies ¢ J%'V =
T, D 7 J_/bi—;fgg_
C/{MLTU’ =5 ° E%bm{’
Km ﬁhm-)d,am —m ~2olit > Cut 2wt
LKt = 1000w Im = [0o0 m M K= 1000000mm
fluzm :losmm :IOMM
Exercise -5 A
7§ﬂ‘w-l- (i) ’7" = TRTIXTIXT = - 240!
() [3N\> - 2x3x343%3 _ 24 3
\ b ) AxHyqyyxy 1024
/ggfn:z. ‘(i) 1o000 = 0"
(i1iy 4 million = [0,00,600 = |p°
6onz (id /-2 ), /-8 x /8 N /g = [-8 )]
(. 3/ [/ 3/ (5 3/
con (i> 3Bnuz = 72
’ 512 &1
vy 729 = 3%
G4 2"
My (LN 5 /5% =  2°43° x 5
L& (2 2 L =
= PRp g nE
- 2 %32 x5
= 2 %3x%3%X3 = 54
5 5





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

